(© Tony Kelly & Kieran Mills)

CompLEx Numsers (Q 4, PAPER 1)

2002

4 (a) Giventhat i* =-1, simplify
2(3—i)+i(4+5i)
and write your answer in the form x + yi where x, y e R.

(b) Letz=5+4i.
(i) Plotzand Z onan Argand diagram, where 7 is the complex conjugate of z.

(if) Calculate zz.

z
(iii) Express - in the form u + vi where u, ve R.

(c) pandkare real numbers such that p(2+i)+8—ki =5k —3—1.
(i) Find the value of p and the value of k.

(i) Investigate if p + ki is a root of the equation z* -4z +13=0.

ANSWERS
4 (a) 1+2i
(b) (i) fim (ii) 41 (iii) &+
4 544
Re
z >
-4 5-4i
() (Yp=2k=3 (ii)Yes




